Best model for HELP J143059.356+334149.361 at z = 1.359 x2=1.72
OPTx2=1.51 IRy?=3.52 threshold (OPT IR)=18.87 [um]

102
Stellar attenuated
o Stellar unattenuated
14 m —— Dust emission
10 —— AGN emission
= Model spectrum
0 | ® Model fluxes
10 3 M oObserved fluxes
21071 5
€ 5
x ]
5 1072 riem,
L 1 ey R
1073 - EE,LH«*
10~4 3
x ]
ﬁo_:sl E
= ] ==f=(Obs-Mod)/Obs
S ]
S ]
7 ]
] o e e\ S ] ] e e e e e T e e e e
o ]
) ]
2 ]
5 ]
© -1 . - CIGALE
()
(o'

10° 10t 102 103 104 10° A
Observed wavelength [um] .



